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“Read the followitig- frequency’ dlsiribiition

~ for two series of observations .and answer
the two items that ﬁollow o

R Frequenqv

. - Series-],

1020 | 20

| 2030 L 15

30_40 .'10;__:_-'.'-.
s060 | vy

' Clqss interval'

i B > o &

Series-Il |.

: Dmcﬂom farthefoﬂowingﬁur(ﬂ)m o
‘-Rﬂdthefollowmgmforminonandanswer -
- the four items that follow : : -

Let the disiribution of mumber of scooters of

_ companies X and ¥ sold by 5 showrooms .

(4, B, C, D and E) in a certain year be

- denoted by S1 and the distri ution of number |
. of scooters of only company X sold by the
' five showrooms in the sameyearbe denoted

byS2.

Shawmom A|B|C\|D E of scootérs sold

| s16a%) J19]21[153312] ~ 6400

Total | -'100‘.-ﬂ 100

1. Whatlsﬂlemeanofﬁ'equencyd:stn <

butlon of Senes-I ‘?

oo

) 356
" © _37:6

(a) 39-6'-7'

Whatlsthcmodeofthe ﬁ'equency

dlstrihutlon of Series T ?
| . -'I | .(a).26

BNCE"

' :(.-:)_46, 3

@ 56 .

“Join Telegram ;

| sz(m%) 24|1820[30/ 8] 3000 |

3. Numberofscootersofcompanyl’sold‘ .

byshowroomElswhatpercentofthe
number of scooters of both companies
soldbyshowroomC? o

(a) 52 '7 e
' (b)"_54

@55 -

@ 5‘6

mba'ofsoootetsofbo&thecompa-
. messoldby n B is what per
cent-more than the m of scooters
ofcompanstold‘?y showmmnA ? .

‘, ‘(a):_781 |
® 81
@ 8%
(d)__‘$8%_
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5. uveE 4, CaﬂtEm%%ﬂqmﬁY%
> qgﬂﬁrmmmw%?-' :

(@) 4614

@ o1
© 426§
@ 4isl |

saﬁm,dmﬂ%ﬂqaﬁmﬁﬁ%.

el & wem ok M B ETT

R WA IR xS i fgm
m%s-q‘lﬂmmw%? - |

(@) 416

0 426

(©) 432
@ 46 3 |
"mﬁm(ﬂ)uﬁtﬁqﬁ&t

| ﬁmﬁ&awaﬁq&qaﬂ(mmm'_
R AR & s AN '

mm%ﬁﬁﬁaﬁﬁa&f%mﬂ

g sl e e S

|t o | 40957 [46070 | 52750 | 48745
IRt
[Pl i dm

e ﬁ"m".ﬁ‘“ | 4937 3125 | 2585 | 3559

12330 | 13894 | 15746 | 20457

- SDHY-T-MTH L 4

w2014 | 2015 | 2006 | 2007 |

| 11&2017#311%&#11&@'&@1“%_’

{_?ﬁtshaamwzh?
(@ 51

- ) 53

(0 54 | _.
(d) 56 L

.2014-17zﬁrm&ﬁﬁcam&ﬁﬁf[_ |
-mmﬁwﬁﬁ%uﬁm_

g mﬁm‘%?
(@) 6% -

) 6%
| ) 7%

(@ 76%
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AT AT D ﬁr sﬂaa Lo

g'a

SORT R
0152
C© 147

10.

| .-(d) 134

mfzmﬁmg&aﬁtﬁﬂmwﬁ

f ,m&mﬁﬂmﬁaﬁraﬂaﬂmw- -

® 10.

CRCR

‘_ :,_(c)'.._l9_ N
@

Jom Telegram https //t me/defenceekaksha



mmgaw@mﬂ

| LET’S LEARN TOGETHER

5. What is the - average - number of
scootersofcompany Ysoidbythe
'shoquomsArC_andE? C

(@ 4614
® 4313
© 426}

@ uey

6. What is the differcnce between the—

- number of scooters of both companies

sold by showroom A and total number -

" of -scootérs  of company X sold by

' showroomsBandEtogetha'?

© @ 416

() 426

© 432

@ 436

Directions for the following four (00 tems :
'Read the following information and answer ' -

the four items that follow :

'rmedatashowsthatmroadsmumng Y

deadlier over the years.

l?ar'

2014

2015

2016

2017 |

bikers killed

46070

52750

#746 .,

| Number of

-112330

13894

15746

20457

| Number of

cyclists killed | 407

3125

2585

13559

2017 ?

(a) 1 .:

(@) 53
o) 4
(d) 5j6‘

8. What is’ the approxlmate percentage
: ians’ fatalities -

change in_ the
“during the penod 2014—17 '?

- (a) 66%

_(b_)_ 68%

(&j %

(d) '?6%

(© 147’
@ 134

What is the average number of cychsts

killed dmly in road accidents in 2017 ? _

(a) 10
® 12

'--(é) 19

| j‘ :l (d) 21

C SDHY—T-MTH
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7. What “was- the avei'age:nux.nber‘o'f |
ped%hanshlledperdaymtheywh

. 9, What is the average,number .Of-bik‘ers_ o
killed daily in road,accidents in the
-'ye;ar201‘7? : I '
(a) 163
) 152

»
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() 8y2+20y 1=0
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(d) 24000«'&-' |

mﬁwmaaaﬁrqm B
x‘+b€~7x+6a?rihat&a;gm§ﬁ

) i' ﬁ%ﬁmwm%? |
PR R R R SO ‘(b) 1 B

ﬁlﬁ@m@waﬂmﬁm%. o

Jom Telegram https //t me/defenceekaksha |



missie @Wn

| LET’S LEARN TOGETHER |

11.

‘nmmbers such that ava +5vb =32 and

: a-J_+bJ— 31, What;sthevalueof -
| 5(a+b)? |

7

@ 5
® 7

()] 9 |

. @ Cannotbedetermmed )

I x 1+j— —x3 thenysaﬂsfies

Letaandbbetwopusvareal;

T_.wmchomofthe followmg equatlons? |
@ 8°-20y-1=0 -

(b)sy2+20y1 N Ya:
--.'(c) 82420y + 1= B
@ 3y2 20y+l* B

' 139

LCM?

(@) 80

() 60"

() 36

| @ %

14. Conslder the follomng statements

- Unit dlglt in 17" is'7.

HCF of two nmnbersmlz Whlchone', -
"'ofthefollowmgcanneverbethelr
o (b)) X16,000

2 Dlﬁ’erenoeofthesquaresofany.
two odd numbers i is always dms:-r._

' bleby8

3. Adding 1 to the productoftwo'
- consecutweoddnumbersmakeslt'_ ;

aperfectsquare

7

‘.Wlnch of the above statemems are
‘ .'con'ect?

| @ 1, 2and3

o tmizay
(©) 2 and 3 only E
‘(d-) l‘,al'ld*:3'on'ly-__

A

Is.Therateofmterestohtwodlﬁ'erent |
: *schaneslsﬂxesameandlt is 20%. But

*in one of the sch the interest is
* compounded half ly' and in the -
- other the interest is compounded

o in'theschanes..lf.the ifference of the
retumﬁafter2yea131s 482,'thenwhat_'

ijs the principal aniount in each

k schc [

@ no,ooo__ 7

o 220,000 "
@ 724000

16. -Forwhatva'lueofkcd,nmeexpm’smoh”.

P+d- 7x+6bereéolvedmmthree \

 linear factors ?

f'(a)_-O___' |
P
 _'©' 2

C SDHY-T-M'm
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(a) 26 iz 18 e . o
®) 42 frie 36 Jwws

- () 45 fire.
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@3 o
. Wl 2+ 5xt6=0 oK
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17. X, randz.e.tartatsmnepomtandsmne" g zn. A lent T25000 to B ahd at the same

fime in the same direction to rum - time lent some amount to C at same
aroundacucularstadmm X completes 7% simple interest. After 4 years
~ a round in 252 seconds, ¥ in 308 - A received T11200 as interest from .-
. seconds and Z in 198 seconds. After - BandC Howmuchd:ddlendtoC?_
-.whattlmemlltheymeetagmnatthe
 starting point ? | o _(a) tzoooo

_ (a) 26 mmutes 18 seconds
A'(b) 42 minutes 36 scconds i , _
©. 45mmutes S T (@ T15000

(d)_46_mmutes i2 seoonus!f ' —

. () 25000

o @ t_mooo
..‘-I&Whatthwﬂflizi?'.- |
5 it M RO ".-2_1.Atmderseusmcomputersatthe;
‘ _ - ' - same price, making a profit of 30% on
“(,;) S8 gy '.oneamdalossbf3 o on the other.
018 L What is the net loss or -profit
1K S N ,_._pememageonthetransactmn? o
®) > | o
(a) 6%los§
- 10l D 4
©> (b 6%gan
200 @ s
OF DT R L2
| | ; -(d) 9%sai1i '
19 I the equations x2+5x+6 0 aml, | o |
2 +kc+1=0 have a common Toot,
thenwhatlsthevalueofk? / A B 22.’[‘hemonthlymcomesoanndBarem
, .~ - = . the matio 4:3. Each saves T600: If
_Edr__}_Q , N A . their expenditures are in the ratio 3:2,
(a) 2 3 _thenwhatlsﬂlemonﬂa{lymoomeofA?
s 3 10 ST -"(a) 71800 |
®ze3 . Ouw
510 (b) 2000
©32%73 PRI
S . (©) T2400
= 5 10 - o |
@ 33 S @ T30
9. . c- SDHY-T-MTH
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23 Thetramfareandbquarebetwem.

“two stations is in the: ratio 3 : 4, If the
train fare increases by 20% and bus
fare increases by 30%, then what is the

‘ratlobetweenmwsedt:amfareand-'\

o rovised bus fire?

o,
-~ (a)

B

'1‘7'  _
.\‘.(b),a ;

S

19

@2

24. When N'is divided by 17, the quotient

is equal to 182. The difference between
the quotient and the remainder is 175
Whatlsthevalue ofN‘?

@ 2975
(&) 3094,
(c) 3101~
() 3269

'25. A stock of food grains is enough for
240 men for 48 days. How long will

_ thesamestocklastfm'lmmen?
(a) 72 days J '
. (b) 64 days'

(¢) 60 days

(d) 54 days

T

2%

26.

@

(®)

A hollow nght circular cyhndncal o
- vessel of volume ¥V vdrhose diameter is

equal to its height, is icompletely filled
with water. A heavy sphere of maximum
possible - volume is .then completely
immersed in the vessel. What volume of
waterremamsmthevessel? _ :

Threepamllelhm:c,yandzm"

cut by two transversals m and ». Trans-

versal m cuts the lines x, y, zat P, O, R

respectively; and Transversal n cuts

the lines x, y, z at L, M, N respec-

tively. If PQ=3 cm, QR=9cm and

MN= 105cm,thenwhansthe1ength S

- of LM?

(a)Vch_'

) 3Scm

28

() 4cm
(d) 45 cm

Theamaofasectqrofacarcle of-'.
radius 4 cm is 256 ¢m?. What is the

.'.radlanmeasureofthearcofthe'

‘sector?

@ 23

® 32

) 33
@) 34
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a1 oo BCR P X P 1

(a) AB<BX |
() 4B>BX B

@ ax=cx /
@ AR |

31.

logiefc0s8) + log;fsing) + logyq(iand) +

. 10310(“0‘9)"‘10810(9909)"'10310(005909) g

_ 'arnmam%? - _

@ -1
® 0\

- (¢) 05

32.

@1

'q‘&ccilsz;ﬁc+oosxr. 1'%,

sinZx + 3sin'% + 3sin’x +sinx

: _ ﬂmm%?
) :(a)l_ ‘

®) 2

© 4
() 8

o 'anYTimn o |
~Join Telegram https //t me/defenceekaksha .
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- '12

33

‘T&O<8<90° sing= 1SﬂTx ootG

%
1+3x+9x’+27x3+81x4+243x5 |

| a;rwmm%?

@) %41

() 1000
(@ 1220

@ 1365 _—

34,

o0 2% Sk A 2 W
(srehwen) Y R et YT W R
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29.

R )

©

‘Which one of the followmg 18 correct, -
- in respect ofanght ‘angled triangle ? -

(a) Its orthocenn'e hes inside the |

- tnangle

B tnangle

(@) It has no orthocenu-c

. Let the bisectorbf the angle .BAC ofa

triangle ABC meet BC in X. Whmh One

- of the followmglsoorrect?
_,.-.':"(a) AB<BX
e B
@ Ax=cx
: @ None ofthe above

31

W_hat_ is the' .Value-_of log,g(cos@) +
logyq(sing)+log;o(tan6)+log,(cot8) +

logw(secﬂ)+logm(cosec0) ? .

BERRORY

Y
L@ 05 o
@

3.

IfOOs2x+oosx 1, thenwhatlsthe-‘
‘value.of -

sm‘2x+3s1n +3$m‘x+‘sm‘x?-

‘_ :(a) 1_. ;

® 2

@4

@s e

Its orthocentre lies ohtmde the

,Itsorthocentrehesonthemangle L

%-13-

| Jom Telegram https //t me/defenceekaksha

33

IfO<9<90° smﬂ 1amdx cote '

then what is the Yalu¢ of

L) %41

® 1000

@ -1365l

S
B |

| (d)'2h2=x?jrz' .

35,

What.stheva1ueof's‘“19°+°°373° 9
. oos?l" sm17°

@0

| ';(c)fz |

@4

C- snm-*r-m |

.

P

l+3x+9x2+27x3+ 1x4+243xs'?

.Theanglesofelevatﬁonofthetopsof

. ,twopﬂ]arsofhelgh&handzhfroma-

o pothonthehneplmngthefeetof‘ '

"'Tthetwopluarsare

- the distances of the foot
'ﬁ'omthepotharexandyrespec-' -
 tively, then which oﬂe of the following
‘ _-.1scorrect? . |

@ 2= x’y
O EES

oftheplllars-"‘



- migsiongyan’

LET’S LEARN TOGETHER

- SDHY-T—MTH

36. qa:ﬁgwmw&mzzcm%lﬁgﬁ{ | 39, awﬁgﬁucﬂﬁwR*W
- v s & @ Wi % v el o FAW: 75 cm AR 50om € | AR Py
FuR G d ot w PRI R EE0mE, A
waa%ﬁgam&mmzv B _.ﬁaawcﬁmmamﬁmﬁ, o
(a) 33 cm | _-W%? 7 |
(b) 44 cm - (a_) 250m
() 66cm (b) 30 cm

- (d) 88 em ‘_ '

.31.ﬁrehmaia@cp?ﬁ'amq‘waﬁ3c. :
- iR ¢ i oo Bt acakBD
40

fig O w Py &1 aR P 408

W et 3om? § 9K B ADC W
- et Son? ®, A ﬁ'gvrAODwf :

O Wem

(gi)' 45 am

. A PORS 5 i g ¢
. B et PR 3R 05 fag 0w

i W ¥ AR P ors

St v & 2 e Prigs & Rt o o & wad
o @ tall T 10 em ®, it foremf PR wern o & 7

® Som?

@ NFem

@ 36w o ”(b) 10V em
@ 182 @ 15J'cm -
3,8.@?@14@%'&3“?(%&%0‘@ | | (d) Mcm -‘
- PomescmamumgewAmAE| A | o
ﬁgpga#aairwm%ﬁup =x _‘_41,'@W%ﬁammﬁ%m

IR =y | frafifem & & At

wRRifg prwPa ity

@ x=65cmdy=65em

(b)_x_,=12_cm'3ﬂ”{y='50m‘
(c). x')=50m3ﬁ?y='12_-cm '_
@ %=0cm Sm--};ismﬁ :

c

T

CxydRzE I M A wmamA VY,
| Ehﬁﬂﬁr%aﬁ%aﬁamqmaﬁ%? :

_' (a) V==xyz .
__(b) Vi=yz
.(?) V=xz

@ V=.(m)?' -

“Join Telegram https //t me/defenceekaksha -
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36.Theper1meterofamanglels22cm.;.

Through each vertex of the triangle, a

“straight -line parallel to the opposite |

’ 81de1sdrawn.Whatlsth¢penmeterof

triangle formed by these lines ?
@ Bem |
®) 44 om

© em

- @ 88'cm

37Thes1desAD BCofairapmum-

- ABCD are paraliel and the diagonals

AC and BD meet at O. If the area of .~

" triangle AOB is 3 cm? and the area of

triangle BDC is 8 cm?, then what is the |

area of triagle AOD?
B (@ 8_(;11}2

&) Sem?
(@ 36’

@ '8 em?

38. Ahne segmentABlsthedlameterofa

circle with centre at O having radius

" circle ‘such that AP=x and BP=y,

In which one of the following cases
the point P-does #ot lie'on the circle ?

@ x= 6}5 em and y = 65 cm -
(®) x=12cmandy=5cm
(¢) x=5cm and y =12 em

(@ x=0cmandy=13cm

39.

The penmetets of two | r triangles -
ABC and PQR are 75cm and 50cm
respectively. If the. lquth of one side
of the triangle POR ‘is 20 cm, then

~ what is. the length of corresponding

" side of the triangle ABC?

.':@ 25cm

(b) 30cm.
(c) 40cm -

_ (d) 45 c;n

 triangle having a side of length 10¢m, -

‘Let PORS be a°

diagonals PR and OS intersect at O.
If triangle QRS is an equilateral .

thenwhatlsthelengﬂnofthedlagona]

_PR?

& (a) Sﬁcm -

a4
' 650m.Pothlsmtheplaneofthe _

15

® 108em

(¢) 15{3cm
(@) 20\om

.Thearéésofthr.éead;ddén.t-facesof'a |

~ cuboid are x, y and z. If ¥ is the volume

- of the cubmd,thenwhlch.one ofthe, '

rfollowmg is correct 7

| '--(a) 'V.=‘m

® P-xz

@ V=@

C - SDHY-T-MTH
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_ﬂm%? gRQA TG DR EARM 1 2R EX
o Aot Al Y@ ¢ 3R D& IR aweh
- (-.a)_ﬁ o i g aw R =R Y,
I 3 _ : Gﬁﬁﬁﬁﬁpﬁ'{q%?ﬁ?ﬁﬁﬂ%l :
o W AC: AD=4:9 %, @ Pom aBC
gy B | 'a\zﬂg«rmasawﬁmmm
R N -
‘© B T
b) 4:9 .
@2 L) 16:81
o | "'(d)12 | | |
| 43..-mmqmgw20cmﬁwraﬁ@ : I
. A EARFEAL VIR -46.maa1€a1%m§ﬁs€raﬁiﬁqm.
150° 9 WH Bt st awar & AR Tweeg P sk Ry .
. wWmAEIIWAMRR | wm b P S emw ey
| mﬁwmaﬂﬁaﬁgﬂiﬁrﬁm-r o aﬂmmaﬂwm%? T
E"".@‘“? @3
@) ?cm - ) 2:3
‘®) 7em" O 4319 sy
() Bem @ 2«/'9;.'
@ mﬂﬁﬁ%aﬁéﬂﬁ 3| g
o ‘4 ‘41.mhm=§gwaﬁraﬁmﬁg
44,7 g P, QR R, 128 6 2 gt S vt TR | Rt 122 % srgava F
P R gt Srwm g€ iR § ) R Pl B vt oA
P PORN yomall & we Figpit 12mn%,a‘fﬂﬂma§§a$réﬁtﬁa o
-ﬁamqqaﬂgsrwcmm,a‘,.- g 2
ﬁgaaecmmw@m? @ S
- (@) 4em? | N
o sem? oo @ et
S (© 16 @ 16
o @ 32'cm2"_ @ 25emd
. SDHYT-MTH -16."? | )

42#& et mgﬁga 6 mfr?z‘m
| (:hﬁm)ﬁm:% amm

45

m?«ﬂﬁqai@mpsﬂtqmﬁl" o

xr pw g Bk CART, Ak

Jom Telegram https //t me/defenceekaksha
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u.unsmelmgmofthemedlanofan 45Lettwo hnespandqbeparallel

-equilateral 11'1angle, then what is 1ls _'

.’A'pleée of wire is in the form of a

‘sector of a circle of radius 20 cm, -

- Consider two points B and C on the -

area? _"ﬂ'hnepandtwopombandEonthe
o Tline g. The line through B and’ E
. «/—12 . ) mtersectsthehnetln'ou CandDatd
_() e - i between the two li 1 pandq;'.lf‘
|  AC:AD=4:9, then what i the ratio
: R - of area of tnangle 4BC' to that of
© - o o | |
. ‘ ' ' ' ,-(a) 2:3
© B —
o (c) 16:81
@ 28 :
- @ 1:2

46. AnequﬂateralMangle@dasquareare'

. subtending an angle 150° at the centre. - ~ constructed using metallic - wires of

. Ifltlsbentmtheformofaclrcle,thm equal length. What js ratmofarea
-'whatmllbeltsradms? | _ofmangletothatofShW"

o %m A

o | () 2:3

& Tem | (b) : |
() 8em @ a3:9
(d) None ofthe above E (d) 2[ 9 r

. Suppose P, QandR arethemld-pomts‘:

. of sides of a triangle of area 128 cm®.
'-"Ifam:mgleABCdeawnbmemng '

4.

All the four sides ofapmuelogrmnlr
are of equal length. °

@) dem? @ -9"“*2-. | "
) 8om? BECR-L
C© 16w @ 16a

' @ 25 om® -

(d) 32 cm?

17

. C-SDHY-TMTH .

Join Telegram : https://t.me/defenceekaksha
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48. mmmsmmsmr
IR AB=5mIRBC=10em W, .
ﬁraﬂiﬂﬁwmsﬁﬂqmﬁtm -

wt?

. _"(a) 4em

'__(b) 2J§cin 2

(c) T

. ‘(d) Sod

82,

| _49.mmaﬁa}ﬁaﬁzﬁr§rﬂsa?. |

ety
CRCTEN
B
. '(c)'zl:Ji'..__

@ B2

- ®) 30% =
(o) 25% -

:'(_d)' 15% -

33,

 s0.w% g A saé ok St ww:
- 20% 3R 10% v & ekt R | FWA F
. Wﬁﬁﬁ%m‘q&ﬂ?ﬁ%?

@ 32% |

ls.;.'

- 51,
 10em }, @ W VR ¥ T P
‘,maﬁmmﬁmmt? |

ﬂﬁ@mﬁ@tmﬁ%ﬁm .

(® 100 cm?

‘(B) 50 cm®

() 25 em?’

@ 10cm®

‘ il‘!ﬂ%mﬂaﬁﬁiiﬁmﬁ' .j .

w W R A
o 201 mm Frar o=t v 39 ) R

suamw%?

() 11:7

M) 71
3tagmaﬁ%|aaﬁﬂanaﬁm N A

(©/20:19 |

L@ 19620

‘ 'qa;aawhw%ma:rwm 2ocm%sﬂt;
Y TR SrE 1000 cm? 2 |

mmmﬂﬁm%?

(a) 4000 cm® -
- (b) 4500 cm?

.(c) 5000 cm®

(@) 5200 cm®

‘ummmmﬁaﬁmsscm%

T UmPITR m AT
”Ww%lgﬂ%iﬂmﬁwm |
Y |

@ 7
B W

(©) 135°

(@ 150°

Jom Telegram https //t me/defenceekaksha
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48.ABC1satnanglenghtangledatB '
" AB=5 cm and BC=10¢m, then what ~
- 'is the length- of the pependicular
drawn from the vertex B to the . .

. hypotenuse? o

@ dem

o 2J§éan |

@ 8 o

49,

Two cylinders of equal volume have = -
* their heights in the.ratio 2 : 3. Whatlsf

theratm ofthelrradu?

| .---.(a) «F 1
B '-(b) B r {
-' (c)-z_:Ji .

G) L\E:Z :

| sn. Thelmgthandbreadthofa el N
_arqmcreasedbyZO%andIO%respec-,

. Hvely. Whatlstheperomtage increase
- mtheareaoftherectangle? -

‘(a) 32%' |

) 30%

©. 25%

@

© Bom? .

are lying on a circle of
'-fthatof‘squa:e?' -

@ 1:7
O 741

“‘(d) 5200 cm3

@ 150°

51. Ifthe lengl:h ofﬂ:e hyﬁotenuse ofa"' R
| _’nght angled triangle: isj 10 cm, then
; 'whatlsthemaxmnma#eaofsucha
right angled tnangle? e _

®) 50 c?
@ 10 cm®

fug 201 mm.

2. A square is drawn sucﬁ its vertices

What is the ratio of aréa of circle to

©/20:19. 1

- @19 20

A nght cm:ular cylmder |has a dlameter -
of‘ZOcmandmcmvedsmfaoeareals
1000 cru®. What is the volume of the

cylinder?

(@ 4000‘¢m.3

o 4soo'cm3 . .
| (¢) 5000 cm? |

.'.prceofwneothgth.?&mnlsbem N
,mtoanarcofamrcleofradluslttcm.-'_.
'-What:stheanglesubtendedbythearc
-.atthecenu'eoftheclrcle? T
'(a) 75° .

) %0

(c) 135°

- Join Telegram https //t me/defenceekaksha
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S5

rﬁmaﬁ@aﬁiﬂai@ma‘f

%s%masr,rﬁwm@rqmga%

amiaaﬁ#aﬂm%maqﬁwt?

(a) 1 2

(@ 2'3

56.

(d) 3:5

EC) x‘ x2+7x+s L1 (x+2) %r:
o fen Wi &, @ wrww
ax3+bx2+cx+d31'-lElT'€Ia,b cSﬂTd“'

%mm ’amt? -

87, .
#R 16cm ¥ W e e
& fog for Tfimt %s A ﬁt'

AEEEA R -

@ 1,-2,3,1

(b) _ls 2s3D 1
(G) . I: _.2.’ "'3s _'.1. .

@ -1,2,-3,-1

w Preg S e F 30cm,28cm

. (a) 37,11,28,16

58.
(o 001995)8 asma T % ?

L 1'0'&3-375 ‘

'(a)‘. 1003475

(b) 21,30, 28, 7
(© 37,21 11;9
@ 37,21, 9,7 '

uﬁlogwms 33000% ﬁr
1
.
1 -

(©) | 100"’.?2-75_" B

() 1003755 .

'QDHY-T-MTH c | o |
” Jom Telegram : https //t me/defenceekaksha

59, (x a)(x b)(x c)ﬁm%m%?

.(a) xa—(a+b+c)x2+(bc+ca+ab)x—abc :

® x3+(a+b+c)x2+(bc+m+ab)x+ubc |

(c) x3—(bc+ca+ab)x2+(a+b+c)x—abc, -

(d) x3+(bc+ca+ab)x_2._—(q{-b+c)x-—abc

ﬁ’l‘ﬂﬁXY Tmﬁlﬂﬁﬁ‘gﬂﬂ

TE AR, W log,p A AT AT Y ?

N (ﬁmgpn%ﬁlog,oloso 30212311?_
‘log¥035 15441) .

| (a) 53070 © -

() 53700

(©) 55635

(d)- 56535

61

‘@mmzma@a\z'

AR = AW 6 cm K 4em¥ |

.98 M @ RedER 8 om WER |

aﬁ@ﬁﬁqﬂaﬁaﬁmm%ﬁ

'-'a@iﬁrﬁméw%?

.(a) 475em.

(b) 550 cm.

@ 625 om

@ 6,-75cn;"
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55.

Whanstherat:tooftheareaofasquarc

inscribed in a semicircle of radius 7 to_
theareanfsqu_aremscnbedmacn'cle‘

" of radius re.

56.

 What aro the vaiues of a; b, < and d o

@ 1:2

‘() 2:5
(e) 2:3

@ 3: s'

- 89,

The quotlent when x“ x2+7x+5 is

diwdedby(x+2)1sax3+bx2+cx+d

© respectively 7

®
©

@ L-231
—1: 2'3 3: 1 ;
1, -2, -3, -1

(d) -1, 2,.—3,' ~1 o

The sides of a triangle are 30cm,
28 cm and 16 cm respectively. In order -
to determine its area, the logarithm of
-which of the quantities are required ?

(2) 37,11,28,16

. (b) 21,30,28,7
o (c) 37,21,11,9

58. Iflogml995 =3 3000, then what is the_

RO

| @).‘

(a)

@

(d) 37,21, 9, 7

value of (0 001995)8 ? .‘

1
1 00‘3 475

1.
10057

1

——

10°325 '

‘. 1
100'3735 )

2
https //t me/defenceekaksha
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61.

What is (s~ a)x — B)(x— ) equal to?

(#)' f—(a+b+c)t2+{bc+cd+ab)é—abc'

‘ '(b) x3+(a+b+c)x2+(bc+ca+ab)x+abc

(c) x’-(bc+ca+ab)xz+(a+b+c)x—abc

@ lx3+(bc41cq+ab)xz—(a'+bﬁl-c).t—ab¢._.

Leét XYZ be an equilateral triangle in

“which XY="7cm. If A denotes the area .

of the triangle, then what is the value

 of logigd*? (Given that log,o1050=

3 0212 and logm35 1 5441)

= _(a)- __5-3070_ -

/ . (b) 53700 .

(c) 55635

@ 5-653'5 |

A hollow sphere of extema.l and
_internal diameters 6cm and 4cm
respectively is melted into a -cone of

, .'hasedlameterScm.Whatlsthehelght o

_ ofthecone?

| (a) 475 cm

”'(b) 550cm:

- (d) 675 cmgj'

- .(c) 625 cm: L

C SDHY—T*M’I‘H
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vt te
@ 25% o |
e

o © 75%"_

o (d) 100% '

. 63.

S a zﬁraﬁaﬁnqﬁm /R
= o | wn | & K
B (c).8em

a&wmﬁga(mm"

mga;r@‘&ﬂﬁmﬂmﬁﬂﬁﬁf
- 10'cm % P 6 cm &, . e )
Aoy g i § Rrs g 102
Fagm A I R A

-10cmtmm(m)qmmﬁ-

m%ﬁg)ﬁ@wlsmt,

et

. :(a) 240cm |

() 25em

(©) lchm".'. |

o (d). 112 om'

.‘Mﬁaaﬁqaiqa?&ﬁa?rm
wardt 6 79 B9 § W R we
T P TR R A
- far fEm 1w | W TR T g

- (m%a%)ﬂw%qaiwmmf

.(a) 2sa=f3.z

® uww
CELS
' - (d) 43#3?& o

SDHYT-MTH . | o |
Jom Telegram https //t. me/defenceekaksha

C

6.

™ T (ﬁﬁm) ABCD ﬁﬁn |
- $ifir, Rt 4B 3R cowmiR €, dR
AD, ABR wa ¥ o wew A w
. '.--méa%ﬁwahzqtaﬂ'(c:paﬁ“-"
. FRafwad, el EB=25cm Ak
. < FC= 16cm% argammw%? |

' "_:(a) 16 em

® 25cm

L © 36em =

6. -
- H A A D PR s A

@ o

3cm,4cm3ﬂ'(5cmﬁﬁmﬁ‘ﬂﬁm%

"mmalmﬁﬁww%? -
 (a) 12¢om .

67.

@ 6 cm

U,ﬂ?aﬁfli’l%'ﬂiratlﬂﬁﬂ 155232cm2%| |
maﬁﬁiﬁﬁww%?

 (a) 0em

(b) 42 cm
: (c)" 38 cm -

68

‘;.@m@ﬁmﬁ%wﬁtt- |
Caeht F oo dk e Fowmw

A 6om AR 12em ¥ | AR AR

 dwE Tamd, asaaam(ma) :

wg?
(@) 535omd

(b) 462 cm?

C(c) 234 em’

ot

(@ 166 en
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Uie

£ BULU IIGWUI cy]mder of helght

10cm and radius 6.cm is melted to

maketwoconesmtheratloofvolume o

1:2 and of same height as 10cm.

‘Whatlsthepercentagemcreasemthe |
: ﬂatsurfaoearea?

@ 2%

) 50%

 (0) ‘75%_

) (@ 100%

If one side of a right-angléd ﬁiangle 3
(with all sides integers) is 15 cm, then -

what:sthemammumpmmeterofthe '

mangle ?

@ -240-@ |

@ 112em

(b} 225 cm

=(¢)  113 cm.

A thin rod of length 24 feet is cut info

"rods of equal size and joined so as to

" form a skeleton cube. What is the area -

Aofoneofthefacesofthelmgestcube

_ timsconmmcted?

@ 25 square foot

®) 24 squae fot

S (©) 9 square fect

(@) 4 square feet "

65.

Conmderau'apenumABCD in which
"AB is parallel to CD and AD is
perpendicular to AB. If the trapezium

" has an incircle which tpuches AB at E

-and CD at F, where EB=25 cm and

- FC=16cm, then what is the d;ameter'
~ of the mrcle? n _ '

(@ 16em .

66,

(b) 25 cm-

o (¢) 36em

(d) 40.cm_

Threecopperspheresofraduiicm,‘_

~ 4¢cm and 5 cm are melted to form a
~ large sphere. Whatxs:tsradms‘?

(@ 12 em
f(b) 10 cm

| (c) 8 cm

- 67.

@ som

The 'volum.e of a :hemisphere is

155232 cm®. What is the radius of the -

hﬂmlsphere ?
() 40 cm

_' -(b) 42 cm .
- {c) 38cm-

i

@ 36em

"A.'bucket_ is'in the form of a.fmnéated |

" cone. The diameters of the base and

- top of the bucket are 6 cm and 12 cm

respectlvely If the helght of the bucket

+is 7 cm, what is the Icapaclty of the..‘.‘ .

bucket ?

(@) S5
. () 462.cm®

(@ 166 cm®

3.

(©) 234.om’

C-SDHY-TMTH
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69.

=% AR B B 6 em B, @
wgﬁwéﬂmﬂﬁm%? |
(a) 96m cm®

~(b) 697 em?

- (¢) S4n om?

o (@ 43mn2‘

0. mﬁnﬂ&u@miﬁtgmlzcmt

w ¥ g 7, fR A R e @

T o= I ’@ﬁ'@ﬁﬁSGm% I"lﬁ' o

._ ?ﬂéﬁﬁﬂﬂwﬁww%ﬁ ?
(@ ¥w@1 2

® Fw2
(©) 13R2291

@ ati‘rl aé’rz

o ‘73'.'waﬂtu=ha'q'ﬁ§mhaﬁtraﬁ-n

T oG T B g R e g R,

¥ & W R TR I TR A

srugaaermmwﬁrmgaﬁm

| ,ilwmaﬁmmwm”
o R
© (a) 3000 co?
() 3600 cm?

mn

‘..mmm%? |

..#&ﬁiﬁwﬁm

(©) 3744 cm?

(d) 3777 mz'

ST F Ahe 28 %,ﬁr

o @ aﬁh&ﬂé’f

®

@3

| (d)

72,

ﬁﬁ%ﬁamﬁmﬁaﬂfr&q

lqﬁmqaﬂ(r%ﬁt{pmﬁﬁﬁ o
R, AT rF R p

ﬂﬁﬂaWh

| Zqﬁpﬁﬂﬂqﬁqrﬂﬁﬁmﬁlﬁm- :
xR p, g oft ProBra e .
%ﬁp,rﬂ%mﬁmﬁaaﬁmt_

SDHY—T-MTH

@ 8

- (c) 10

L 74,

@/

qaa:ﬁﬁ%m soomq§ ik 7 o |
I IR R wlen www 1R T

%ﬁ _'x%ﬂﬁrﬂﬂa 50 &, 3R ™ ER A

g 7ew &, A 39 B w0l Y

. e wrd T we wS d dR WR
Wi amrde - N
- (a) 10 | -
&) 14

(c) 15

(d) 17

:.'ﬁm@%ﬁy,«/_%ﬁgamaqﬁht

5

A x=369 y=36% lxa:rmw

A y=sat?
@ 54 -

®) 27

. (c) 16
,(d) 8

U
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6. Anghtcmu:aroonehashelghtscm.  Which of of the abm st+tements isfare
Iftherad1usof1tsbase136cm,then . ) jcorrect? | o
whatlsnstotalsurface area? P @ 1 on_ly_ S

@ S6m em? T ®2ay i
(b) 69 om? ‘ ~ (© Bothlamd2 |

@ Nelther 1 nor 2 1
() 4n om? - o |
o R .73'.RadhaandRamaremsthrs Fweyeats .
(d) 43::@:2 ST ‘ " back, the age of Radha was three times -

" that of Rani, butone’ye&back the age

'm Sn;cubes,eachmth 12medge are - -of Radha was two#imes that of Rani.
. Jomedendtoend.Whatlsthesnzface-'_ : ;7:._-?“Wh3t is the a,ge d1ﬂ‘e;ence between :
ofresultmgcuboui? S .-them? - A .
(a) 3000cm oL - - - 3
(c) 3744 cm2 L ": o | ,(d) 11 - - '

(d) 377‘701112 B OB W person  carries ?500 andwants to
R " buy apples and eranges out of it. If the
costofomeapplelaﬁ}andthecostof
ohe orange is X7, .what is the
3 numberofwaysmw hapersoncan _
. . buy both apples and oranges usmg
- totalamount? b y
“(a) 10

. REURT
@ Two S @15

. Ifme sum ufa real ] ns? -
' recxprocal is 2 then how many such '_
“nuiribers are possible? '

] @ _None '
@) One

(d) Four. J @17
| ST '75.'-G1ven y 1s mvarsely ropol '_
72.66ns1derthefollmngstntements _ Jx, and x = 36 ‘when y= Wha
_ - "thevalueofxwheny#ﬁ?
1. pr 1srelanvelypnmctoeachof o
o "qandr,thenplsrelau\?elypmne (@ 54 -
o ﬁto the product qr- R " (b) 27

_ 2, '_‘If p divides the product qr and 1f : fc)lﬁ o o
~ pdividesg, thenp must ﬂmﬂe oo 8 e

<}

28" |
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- 76.

.15+64_-ana=f11§rw%_?- |
(@) 4+47 "

@A
(0 3447

T

@ 3T

725, sﬂsﬁtwi&:ﬂaﬁaﬁmm: :
w7 e wn R s dog2 = 0301,

logi3 = 0477, logyg7 = 0-845]

_(a) 21, 20 19

(®) 20,19, 18 |
(©) 22,21,20

@ 22,20,21

78

mr-hﬁq xagaa:laqaaq;ﬂaa%ﬁ." 2
W x @ 14 % Renfa Ren ww & @

VFT TR Y IR T H 15T

_ﬁﬂﬁammt ammm;
.hﬁnﬁ-rf@aﬁiraﬁhm@w%?

. (a) 20<x<30
@) 30<i<40
- © 40<x<50 o

79.

(d) x > 50

"qﬁﬁ@zﬁiﬁaﬁxm}'ﬁm
iR ymrNdwmam Ak

¥ 7 g o 20 BFe 3 o R @

st & 1 AR x sk y 3w e Ry
o oY o o o 15 Pee i

 QREhR AR IR W ra @

B SDHY-T—MTH

G I, A e @ g R

m@%ﬁﬁﬁmmm?

C

. 2% .
Join Telegram https //t me/defenceekaksha

B "-(a)'soﬁat
- ® )4sﬁ|=|z

© 6ofFe

@ wbm |
. Frefi lﬁ‘ﬂﬁﬂtﬁin?ﬁjﬁm;

| E m%mqaiﬁ,mﬂaqyﬂmx%ﬁi :

-—-—-<—-—l
5 8

3.5 % wh Tehe WS R

' _____x 2<.:ll
X

 4l4232303... @ - P #mﬁﬁm

Y mm% Wpﬁtqﬂ?ﬂﬂi'g 1

‘-',mgﬁﬁ%W%mH@I?? o
‘@ 1aﬂtz |

- 81.

® 233

('c)3aﬁu
(d)23ﬂ'{4 o

@gﬁﬂmﬁtﬁmaﬁtm@ﬁ

- sftaw w510 }, IR I R w T

240 ¥ 1 AR ¥ TS B TR 30 Rt
Fw A Y AR oA
mga%hﬁraﬂmmw%? o

(@) 276

Cem

@ 285
B _(d)A'375' o
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' 76. What is the square root of 16+6w/_ ? :

@ —4-«,»«/'
® 4-47

- | © 34 -
. @ 347

7. What is the number of digits in .725 g2
and 9%° respectively ? [Given log;o2 =

0301, logyy3 = 0477, 1og,.,7 0845]

(@) 21,20,19 .
® 20, 19, 18
(©) 22,21,20
:(d) 2,20 21

-

8. Let x be the smallest pomhve integer
such that when 14 divides x, the

* remainder is 7; and when 15 divides x,

" the remainder is 5. Which one of the
following is correct ? '

@ 20<x<30
L) 30%3<'4o

(c) 40<x<50
@ x> 50

tank. If only X is opened, it drains out

* the. full tank of water in 20 minutes.

If both X and ¥ are opened, then they

TwotastandYateﬁxedtoawater_

dramouttheﬁﬂltankofwatermi

15 minutes. If. only Y is opened, how

‘longdoeslttaketodramouttheﬁlll_ '

'tank of water?

27

@ 30 mmutes

(b) 45 minutes

(©) 60 minutes

@ 90mmutes :

2 There exists at least a posmve',:. o

81.

VConslder the followmg statements

1. a -\/ﬁ 1s arat:onal number

mtegerxsuchthat__ _1'
5 8-
' x=2
3 == forallrealvalues ofx
4, 4.'232323 . ¢an be expressed m-' o
ﬂle'fermgwherepandqare |
'Whlch of the above staiements are
comrect 7 '
@ Iandz.’
() 2and3
() 3and4 -

1 BN 2aﬁd4 :

A hbrary has an average mnnber of :
510v131t0rsonSundayand2400nother :

" days. What is the average number of .

~ visitors per day in a month of 30 days .
o begmmngmthSaturdpy? -

(@ 276
) 282 )
() 285

@ 375
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T ;AR By %Wﬂxyahtz"' '. issqasamﬁmm::mm%ﬁi
- 11 ’ o

| %%i%% 0 ?%W)’l

"’_‘*7 T
yrz o

' | _‘4,_"(a)_ -15
| mREE ReaRR s

(@) 6. _‘ S . | -
w7 - @15

@

| 86.3R 107 Bx75%x 1052 e

x- xz)aiﬁam%lxﬁﬁa%m%?

'-(d) 9. A ﬁtumaﬁmmw% T L

. ”-@Wﬁﬁﬁa@ﬁ%maﬁm S (a) 0 -\ \
. wmdIa R R 10%w o L oA
'm@m%aﬂt@ﬂwwmﬁmﬁl_[g o
;_ﬁa@ﬁwgﬁmmmmﬁm | L5
. wRwawmR P r"(d)zs]
@ l%srﬁr | o B '
o) 1%Em.
© at-rm-rrmﬁ
| -.(d) OS%m

$7. 3%_ 3”%%@&33@1%55@@11[
"mﬁh‘m:ﬁ%? : B

_(a). 3

) 6
o 'u.-eoomaﬁqa:maﬁzr&momaﬁ -n @ -‘77 N
Co @ ¥ o R g sk SR ERY N
- wmfme R IRwWEEA TS (d) 9 N
R T R 200 kT R A 0 D .
S wmm iRk M e W "g'ss.mmaaqgﬂaﬁ%mﬁwﬁm*
- P o fme v R § 1 eRA 294%|5=rwnﬁmﬁmw%?
: wﬁraﬂmﬁﬂﬁr%mﬂmw% (SN
T (@ 38
',':(3)32: ' ‘ s
@) 2:3 ® 34

© 3:4 PR @ 30 | .
@aes . @%
SDHYTMTH c e I
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36 _ L whetex,yandz: ‘

by car. It takes 40 minutes more if
. ZOOhnarecoveredbytrmnandthe
 rest by car. What is the ratio of speed

e of the car to.that of the train ?

@ 3:2
® 2:3
© 3:4

@ 4:3'

85, Arealnumberxlsduchthat(x %)

82 If'ﬁ"s"' 1 ‘1smax1mmn.Whatls;xequalto?
: X+—r s
| Yo L . @ -15
arenaturalnumbers,thmvvhatls b)) =05
®) =05
(x+y+z) equal to ? : o
_ | (c) 05
- (@ 6 .
S (d) .5
o7
© 8 _86.1f 0% divides 623>¢759><1052 then
e ,whansmelargestvahueofn? o
(@) 9 ] | - o
@ | T (a) 20
_.Ape.tsonsellstwonemseachat *(b)22_'
-~ Rs. 990, one at a profit of 10% and y” ‘
- another at a loss of 10%. What is the @@ 23
~ combined percentage of pmﬁtorloss ' - |
‘forthetwoﬂems? s ' ',(d) 28
-'_j(?) 1%-1958-‘ .Whatlsthedxgltm eumt’splaceof
I _ 98 _ 289 o .
() 1% profit iy by 3%-3%7-
.l(C)' No profit no loss ) -(a)_ 3 ‘_ S
' N b) 6 &
(d)' 0-5%,-proﬁt o . (b) - P
gt N . |
ultmkesllhomsforaﬁ()ﬂhnjoumey a &\ \ o
1f120km13donebytrmnandtherest‘ ;(d) 9' S

88.The sum- ofthe #quares of four -

consecutive natural numbers is 294.

Whatmﬂzemnnofﬂlenumbers? :
@ 8
@) 34
| ‘, (©) 30
@ 2
~ SDHY-T MTH
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| 89'ﬂthﬂRsz+px+q=0ai’Elp3ﬁTq 93, T - 1 m
- %,"q(m'g ﬂﬁq¢0%|p3ﬂ(qa;‘qﬁ"' o x? +5x+10 Hﬁ'ﬂT
_"'mwﬁ? . ' %"-'_ ‘
@ L2 @ ?
® L2 - .
I 15
© -1,2 (l?) Cy
@ L2 @1
o A —
;ao.mgﬁaamasﬁaﬁmgmg @ 15 | o
- Peswiwmamaste - . N\ | o
| | 947 -3) Al % (x+2) wfvl g
| @ 1 - ame R e-) R A+
M2 | _aﬁﬁmﬁqmm%m34
"© 3 A2 ?thT'FlFrTﬂT%? |
(a) & :
'(d)4__ - g |/ vEa
TR - TG rpm0 O 12
EwmEtEwimEs A @5 .
e bl o5, B 8 i 8 7
'_ @ 36-.--: | "._(a) 1=ré’rmtsﬂtﬂt?rm o
- Oe ORI T S L
| '.(c) 64 o @ ﬂﬁp'*q‘é#%,'a*rpakq@ww R
@ 81 . ) o L
. L | @ J_ m&hua@r -
sy 96.n%3=rwﬁﬂglfﬂim=ﬁ$rzhﬂmw% o
(,)'2 : - ﬁlﬂ%ﬁﬁnz+l9n+92'@q§fﬂt? =
a)
s @2
O ERCEE
(c) 4 (©) 0 -
@7 ”.'(&) 19
SDHY-T-MTH c PPN o
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. The equation x%+px+¢=0 has roots.
equaltopandqwhereqa&{) Whatare-

the values of p and q respectlvely ?.

(a) 1,-2.

(b)12

..(c) —12

) —-l —-2

.Howmanypalrsofnaturalnumbers

aretheresuchﬂlatthedlﬁ'@renceof

) the:rsquarensBS?
@l
.:_:(b) 2
©3
@4

o1.

If (b - 6) is one Toot of the. quadratic

equation x2— 6x + b =0, where b is an

- .integer, then what is the ma:umum
:valueosz? S

R K
S 64
""'-"*(d) B

1

“ -;_:Qf a +""‘

) 3
@4
@ 7

-_@

 doneé by (x+4)

a—\fﬂ- thenwhatlsthevalue: _,

93 Whatlsthemaxlnwhmwlue ofthe"".

x2+5x+

15
s
:'_'15?-_‘? R

@1

). If the ratio of the work done by (x +2) .

workers in (x~3) days to the work
ers in (x —2) days
153 4thenwhat1%theva]neofx?_r

.(a) 8.

® 10

© 12
@ 15

) ‘..EWhach one ofthe followmg lS m
- correct? - . S
" (a) llsneltherpnmenoroompomte

(b) 0is nelther posmve nor negahve

"(c) prquseven,thmpandqare

_always even

”_j(d) Jdlsanmauﬁhalnumber

7',96. Whatlsthcsmnof Imtegervaltwsof '.
,nﬁ)rwhlchuz+l
. square? . -

@2

+92 is a petfect

®) 19
(c) 0
(d) —-19

C SDHY-T-MTH o
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91=r§q€ix3+3xz+3x+1 S maﬁ:x—{a,{b},c}

x’+512+5x+43ﬂ'( - ‘_ _' o Y={{a},b,¢} iR .
o Besrs | . Z=f b}y i
- wegE e owE? “"W‘Dﬂzﬁﬁm% v

@ G @) @b
T Gz L ®) e B D)
O GHDE+xH) N pmn

| (é)‘ @
() (x+ 1)2(x+4)(xz+x+l) . (d) q’
9; (x-y)3+(y z)3+(z x)s‘a;fmw | lwﬁmPﬁ(qugﬁ‘W'
%?9(”_’_’)(” pe=® o e e neg=0F oW
- zhmsﬂzgum—-s‘%l(p A
(a)O_ . N Va: Y ‘HFIEFII'B?,' g
- , ' "(b)r‘l_
' ;: (c) ; © 2

@ 1 : . @3

'SDHf-T—MTH c n
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. ¥7. whnat1s we Loem of the polynommls 99. If X= {a, {b},¢},
: B+32+3x+1, . Y={{a},b,clend -
P+52+5x+4and .. Z={a, b, {0}

 aPesx+4r ‘thm(xnr)nzequal-sm_
(@ G+1Pe +~4)(x2.+x+_1) | .

| @ @b
' 7 (b) (.1_:+4)(_x2'+x+1) ' '

) {{a}, ®), )
© o

(@ _;(,p -

@ GHDE@xH)
B (@) 1P+ AP+ x4
. %-Whﬁmthevalueof o

I et ey e it S
W N-D-x)

‘@o DR " the roots, What is the value of (p — ) ?

Ty Tumbers p and g are such tha the
~quadratic equation px%+3x+2g=0

@ -

© 2

(RN

 ®

@

@1 @3

B Y snnY-T.m
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: DONMOPENIMWWWLWBM TOLD I'DMSO

T.B.C..SDHY S S TestBookletSerieu- -
TEST BOOKLET |
ELEMENTARY MATHEMA'I']CS SE
mm MHom o e Nacimum Marki ; 100

o ;;

3

" DO NOT wriwe anything else on the Test Booklet.

EMDWBLY AFTER THE COM!ENCEMENT UF THB EXAWAT[ON YOU SHOULD.‘ .
‘CHECK/ THAT THIS TEST BOOKLET DOESNOTHAVEANYBNPRIN’IBDORTDRN OR
. MISSING PAGES ORIT'EMS, ETC. TF SO, GETITRBPLACED BYAGOMPLETE TEST

BOOKLET.

.mmmuhtﬁemdidm%mpnmuxmm“lﬂhthMNumnd
. Test Booklet Serles A, B, C or D carefully and -withont any omission & discrepency it the
‘ --wmmmommsmammmwmmm
You have to enter your Réll Nnmber on the -

Test Booklet in the Box provided alongside.

This- Test Booklet contains 160 items (questions). E&ﬁﬁmmmﬂdhﬁh“ﬂm

‘Bach item comptises four responses (answers). You will select the response which' yon want to

- mark on fhe Answer Sheet. In case you feel that thwre is more than one correct response, mark the

‘6.

T

9-_ ’
10.

" respomse which you consider the best. #a any case,.choosc ONLY ONE response for each iem.
-YwhawmmkﬂlmrespmmmYmﬂwsepmAmwShwth&edmm -

* in the Answer Sheet. :

Al items carry equal marks.

mmmmmmmmsmummmmmmmm

'ywhvetoﬂlmmpuﬁculmmﬂ:emw%m“pﬂmmmymm!om] o
'mmmmmmmmmmmmemsmmumm, '
'mleMMwmmmmwmmMYwmpmmwm

away with you the Test Booklet.
Sluqbfnrroughworkmappendedmthekﬂﬂwkletatﬂlemd_

TIIEB{BWELBEP’ENALTYFDRWRONGANE’WBRS MARKEDBYACANDIDM’ER‘ITHB

. OBJECTIVE TYPE QUESTION PAPERS.

(i) Thuemﬁmwdmmm_ﬁ&eauﬁwmqm Fmeachqmsnmﬁmwlnch.
‘8 wrong answer has been givea by the candidute, one-thlrdofﬂumnhasmdwﬂu :

. question will be deducted as penalty.

- (i) . :Hamgmmﬂlmommmnmnbemmdasamgmmifm

l-(iﬁ)' If&qlmuonmleftblank,x.e mmkmﬁymmmmﬂunm_._

ofmmmmmmwhmmmm&mpmﬂwmmmM‘ -

for that question.

MNGTOPENIHETESI‘WI’M ranmmmmso

| m’é a@ﬁwwmmﬁm%g@wmwh
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